2 WASre:

Online

Parts Catalog - Option Detail

Option Group Graphic Film Card Date

HX9021 08.10 hx920gd z 03-MAR-92

6C8.3, C GAS PLUS CM556, G8.3, G8.3 CM558, GTA8.3 CM558, ISC CM2150, ISC CM554, ISC CM850, 1ISC8.3
CM2250, ISC8.3 G CM2180 C101, ISL CM2150, ISL CM554, ISL CM850, ISL G CM2180, ISL8.9 CM2150 L110, ISL8.9
CM2880 L112, ISL9 CM2150 SN, ISL9 CM2250, ISL9 CM2350 L101, ISL9 CM2350 L111, ISLE4 CM850, L GAS PLUS
CMb556, L8.9, L8.9 L121, L8.9G CMOH2.0 L125B, L9 CM2350 L116B, L9 CM2350 L119B, L9 CM2350 L120C, L9
CM2350 L123B, L9.3 L105, L9.5 L117, LON CM2380 L124B, QSC8.3 CM2250, QSC8.3 CM2880 C102, QSC8.3
CM554, QSC8.3 CM850(CM2850), QSL9 CM2250, QSL9 CM2250 L115, QSL9 CM2350 L102, QSL9 CM2350

L107, QSL9 CM2350 L118, QSL9 CM2350 L122, QSL9 CM554, QSL9 CM850(CM2850), QSL9 G CM558, QSL9 M
CM2250 L106, QSL9.3 CM2880 L113

Engines

SMALL | MEDIUM | LARGE

View My Cart

HX9021 Heat Exchanger Heat exchanger mounted on...(More)

exhaust manifold with front

fill/lexpansion tank and vent

lines for use on 6CT and



https://qsservices.cummins.com/qshd/feedback.php?productid=1
javascript:swap_img('hx920gd','/rtgraphics/english/parts/hx/9/hx920gd_sm.png');
javascript:swap_img('hx920gd','/rtgraphics/english/parts/hx/9/hx920gd_md.png');
javascript:swap_img('hx920gd','/rtgraphics/english/parts/hx/9/hx920gd_lg.png');

6CTA. Used on water

aftercooled marine engines.

1 S931C Reducing Pipe Bushing 1/2 NPTF(Ext) x 1/8 NPTF(Int)
2 43828 D Hose Clamp 21/16-3in.

3 67185 Plain Hose

4 68138 Male Connector 1/8 NPTF x 7/16-20
5 68139 Male Adapter Elbow 1/8 NPTF X 7/16 - 20 (90).
6 108722 Clip

7 110980 Plain Hose

8 210753 Hose Clamp 9/16 -1 1/4 in.

9 3026395 Plain Hose

10 3900630 Hexagon Flange Head Cap Screw M8 X 1.25 X 20

11 3901249 Hexagon Flange Head Cap Screw M12 X 1.75 X 25.
12 3903990 Hexagon Flange Head Cap Screw M10 X 1.50 X 20.
13 3906619 Pipe Plug 1/8 NPT.

14 3907022 Filler Cap

15 3912145 Heat Exchanger

16 3912150 Retaining Clamp

17 3912174 Expansion Tank

18 3913034 Hexagon Flange Head Cap Screw M8 x 1.25 x 100

19 3913750 Plain Hose

20 3913753 Water Transfer Tube

21 3918493 Flexible Hose

22 3918494 Flexible Hose

23 3918495 Flexible Hose

24 3918919 Water Transfer Tube

25 3918937 Mounting Spacer

26 3921694 Vibration Isolator Service As 3921693



https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

Need Assistance? Please click on the Contact Us button in the top right corner of any page.



